REEF—ER

No S N LB TR EE T L

1 [FRKRBEBETHA 46 46.0

) FRALD AL 2855 420.4

" (2[E1H) 109.5 192.9

3 FHARBETHA 30 2175

" (2[E1H) 30 2175

4 |REHF-THHMR 431 646.5

5 |£RF BTN 4153 767.5

6 RE/HTHIA 1,129.0 2,340.9

" B&ER (2EE) 757.0 1,528.2

7 |R—/1EHA 950.2 1,506.8

. IWE—TH-mTEH#R 665.9 2,159.2

" (2EIB) 665.9 2,159.2

o NEREXN RO 3475 536.7

" (2ER) 3475 536.7

0 NREXNRERO 841.8 355.5

" (2EIB) 841.8 355.5

y JBEE=T BN - 18 LSBT A 570 1,139 82 221.4

" (2EIB) 82 221.4

. BILEETHA 106 397.5

" (2EIB) 106 3975

13 [#81LKRITHT A 48 340.0

iy 1L <5 BRET ~ 48 LI E BT #th 150 195.0

" (2[E1H) 150 195.0

15 |RESRETHHtKN 466 601.8
6 ZEETHE~XENTH 581.2 2348.5
" (2ER) 689 983

. REANTHHR 419.7 22495 11265 2,977.2

" (2EIB) 1058.1 2,635.2

&t 2,260 6,720 11,269 22,169

HREHE 6,700 22,200
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ac910481
線

cosmia
テキストボックス
　A=46.0㎡
　L=46.0m
　W=1.0m
　※処分有り（1回）

cosmia
折れ線


A=1984
L1=64.0m W1=1.9m
L2=64.0m W2=1.2m

L1=225m W1=2.0m
L2=87.0m W2=1.7m

L1=17.0m W1=0.8m
L2=31.0m W2=0.5m



ac910481
線

ac910481
線

ac910481
折れ線

ac910481
折れ線

ac910481
折れ線

cosmia
テキストボックス
　A=198.4㎡
　L1=64.0m　W1=1.9m
　L2=64.0m　W2=1.2m
　※処分有り（1回）

cosmia
テキストボックス
    A=192.9㎡
　L1=22.5m　W1=2.0m
　L2=87.0m　W2=1.7m
　※処分有り（2回）

cosmia
テキストボックス
     A=29.1㎡
　L1=17.0m　W1=0.8m
　L2=31.0m　W2=0.5m
　※処分有り（1回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


TRAREETHN
=LY

\

o
o | W=7.25m@m+6.5m)/2 | )
] e i



cosmia
多角形

cosmia
テキストボックス
　A=217.5㎡
　L=30.0m
　W=7.25m(8m+6.5m)/2
　※処分有り（2回）

cosmia
折れ線


L1=431.0m(58m+140m+41m+15m+102m+75m)
W1=1.5m(0.5m+1.0m)



cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=646.5㎡
　L1=431.0m(58m+140m+41m+15m+102m+75m)　
　W1=1.5m(0.5m+1.0m)
　※処分有り（1回）


cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


ik

MY 38 P

=R =

L1=65.0m(29m+36m)
L2=221.5m W2=1.5m
L3=123.0m W3=2.9m

W=1.0m



cosmia
多角形

cosmia
線

cosmia
多角形

cosmia
テキストボックス
　A=13.6㎡
　L=5.8m　W=2.35m(1.7m+3.0m)/2
　※処分有り（1回）

cosmia
折れ線

cosmia
テキストボックス
　A=753.9㎡
　L1=65.0m(29m+36m)　W=1.0m
　L2=221.5m　W2=1.5m
　L3=123.0m　W3=2.9m
　※処分有り（1回）

cosmia
線

cosmia
線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


No. 6

Rz / ETHIA

A

N
0
~N
n
—

1.Tm

535.0m W2 24m

=
£
S
~N
o~
~

L2=

65.0m W1
L2=82.0m W2

39m(5.7m 2.1m)/2
2.05m(4.1m/2)

1.2m

L1

40.0m W3=

L3
L4
L5

2.3m

103.0m W=1.5m

82.0m W4

1/20



cosmia
多角形

cosmia
多角形

cosmia
折れ線

cosmia
折れ線

cosmia
線

cosmia
折れ線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
テキストボックス
　A=1,528.2㎡
　L1=222.0m　W1=1.1m
　L2=535.0m　W2＝2.4m
　※処分有り（2回）

cosmia
テキストボックス
　A=812.7㎡
　L1=65.0m　W1=3.9m(5.7m＋2.1m)/2
　L2=82.0m　W2=2.05m(4.1m/2)
　L3=40.0m　W3=1.2m
　L4=82.0m　W4=2.3m
　L5=103.0m　W=1.5m
　※処分有り（1回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


%f/ IEih A

4 2\
o 'V’O

L1=305.0m
| 12=300.0m
1 13=111.7m

W1=0.2m~50m [== |

W2=1.2m~2.4m
W3=0.5m~1.2m

L1=116.5m W1=1.0m
L2=117.0m W2=3.9m



cosmia
線

cosmia
折れ線

cosmia
テキストボックス
　A=934.0㎡
　L1=305.0m　W1=0.2m～5.0m
　L2=300.0m　W2=1.2m～2.4m
　L3=111.7m　W3=0.5m～1.2m
　※処分有り（1回）

cosmia
テキストボックス
　A=572.8㎡
　L1=116.5m　W1=1.0m
　L2=117.0m　W2=3.9m
　※処分有り（1回）

cosmia
折れ線

cosmia
折れ線


i

= l =
/ y TN lﬂ! ', B =,

=T
:

A=2,159.2
L1=275.0m(50m+49m+50m+56m-+8m-+62m)
W1=3.0m
L2=255.0m(45m+40m+45m+45m+40m-+40m)
W1=4.6m
39 X(2.5mx1.3m) 32 X(1.2mx0.9m)

i



cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
テキストボックス
　A=2,159.2㎡　※処分有り（2回）
　緑地帯　L1=275.0m(50m+49m+50m+56m+8m+62m)
　　　　　W1=3.0m
　　　　　L2=255.0m(45m+40m+45m+45m+40m+40m)
　　　　　W1=4.6m
　植樹桝　39個×(2.5m×1.3m)、32個×(1.2m×0.9m)
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w
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i
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A=192.0 N
L1=63.5m W1=1.5m /|
L2=64.5m W2=1.5m v

A=344.7
L1=35.0m
L2=35.0m
L3=96.5m
L4=53.0m
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cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
テキストボックス
　A=192.0㎡
　L1=63.5m　W1=1.5m
　L2=64.5m　W2=1.5m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線

cosmia
線

cosmia
線

cosmia
テキストボックス
　A=344.7㎡
　L1=35.0m　W1=0.4m
　L2=35.0m　W2=1.5m
　L3=96.5m　W3=1.4m
　L4=53.0m　W4=2.7m
　※処分有り（2回）


cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


A=257.5
L=515.0m(240m+107m+168m)
\ b\'\\‘ { W=0.5m

L E-h

iQ

\, i
\, ]
N
e i
N
N 5 [
N
AN
\
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AN
N
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B
AN
N
N
N
® -
‘a\ N
AN
N &
N
\\
S S
e \ AN
. N
N
g
. S +
\
.

A=98.0
LN L=326.8m(163.4mx2)
: W=0.3m



cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=257.5㎡
　L=515.0m(240m+107m+168m)
　W=0.5m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
線

cosmia
線

cosmia
テキストボックス
　A=98.0㎡
　L=326.8m(163.4m×2)
　W=0.3m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線


L=82.0m
W=2.7m(2m+3.4m)/2

1 L1=70m W1=1.7m
L2=400m W2=2.2m
L3=100m W3=1.4m



cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=1,139㎡
　L1=70m　W1=1.7m
　L2=400m　W2=2.2m
　L3=100m　W3=1.4m
　※刈りっぱなし（1回）

cosmia
折れ線

cosmia
テキストボックス
　A=221.4㎡
　L=82.0m
　W=2.7m(2m+3.4m)/2
　※処分有り（2回）

cosmia
折れ線
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cosmia
線

cosmia
テキストボックス
　A=397.5㎡
　L=106.0m
　W=3.75m(4m+3.5m)/2
　※処分有り（2回）

cosmia
折れ線


7] W1=13.15m
1 (103m+16.0m)/2



cosmia
多角形

cosmia
多角形

cosmia
テキストボックス
　A=129.6㎡
　L=32.0m
　W=4.05m(0m+8.1m)/2
　※処分有り（1回）

cosmia
折れ線

cosmia
テキストボックス
　A=210.4㎡
　L1=16.0ｍ
　W1=13.15m
　(10.3m+16.0m)/2
　※処分有り（1回）

cosmia
折れ線


L1=60.0m W1=1.0m
L2=90.0m W2=1.5m



ac910481
折れ線

ac910481
折れ線

cosmia
テキストボックス
　A=195.0㎡
　L1=60.0m　W1=1.0m
　L2=90.0m　W2=1.5m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線


A=298.2
L=213.0m

W=1 -4m



cosmia
線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=303.6㎡
　L=253.0m
　W=1.2m
　※処分有り（1回）

cosmia
テキストボックス
　A=298.2㎡
　L=213.0m
　W=1.4m
　※処分有り（1回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


A=408.1
L=53.7m
W=7.6m(12.2m+3m)/2

A=805.2

L1=30.0m W1=6.25m(4.2m+8.3m
L2=18.0m W2=9.8m(8.3m+11.3m
L3=50.0m W3=7.3m(11.3m+3.3m
L4=35.5m W4=2.15m(3.3m+1.0m

/2
/2
/2
/2

— — — —

L=109.0m
W=7.8m(12.6m+3m)/2 |

R

- q"/
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cosmia
折れ線

cosmia
多角形

cosmia
折れ線

cosmia
多角形

cosmia
折れ線

cosmia
多角形

cosmia
折れ線

cosmia
テキストボックス
　A=109.0㎡
　L=109.0m
　W=1.0m
　※刈りっぱなし

cosmia
テキストボックス
　A=850.2㎡　
　L=109.0m
　W=7.8m(12.6m+3m)/2
　※刈りっぱなし

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=66.0㎡
　L=66.0m
　W=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=60.0㎡
　L=60.0m
　W1=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=408.1㎡
　L=53.7m
　W=7.6m(12.2m+3m)/2
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=50.0㎡
　L=50.0m
　W=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=805.2㎡
　L1=30.0m　W1=6.25m(4.2m+8.3m)/2
　L2=18.0m　W2=9.8m(8.3m+11.3m)/2
　L3=50.0m　W3=7.3m(11.3m+3.3m)/2
　L4=35.5m　W4=2.15m(3.3m+1.0m)/2
 　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス

　※１回目除草箇所



/ \ R /|

N\ [ A=2500

// L=125.0m
W=2.0m

A=60.0
L=60.0m
AN W=1.0m
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cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=109.0㎡
　L=109.0m
　W=1.0m
　※刈りっぱなし

cosmia
テキストボックス
　A=218.0㎡
　L=109.0m
　W=2.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=66.0㎡
　L=66.0m
　W=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=60.0㎡
　L=60.0m
　W1=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=120.0㎡
　L=60.0m
　W=2.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=50.0㎡
　L=50.0m
　W=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
テキストボックス
　A=250.0㎡
　L=125.0m
　W=2.0m
 　※刈りっぱなし

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=50.0㎡
　L=50.0m
　W=1.0m
　※刈りっぱなし

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=60.0㎡
　L=60.0m
　W=1.0m
　※刈りっぱなし

cosmia
テキストボックス

　※２回目除草箇所


/ /
S

T A8

L=123.0m

204

7.1

L=182.3m W=0.5m
L=54.7m(10.6m+9.4m+34.7m) W=3.4m

A=2,249.5
L1=107.1m
L2=10.3m

L3=183.Tm W3=5.95m(6.2m+5.7m)/2
L4=119.2m W4=4.25m(5.7m+2.8m)/2

W1=5.65m(3m+8.3m)/2
W2=4.7m



cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
テキストボックス
　A=342.0㎡
　L=68.4m
　W=5.0m
　※処分有り（1回）

cosmia
テキストボックス
　A=1,820.4㎡
　L=123.0m
　W=14.8m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=2,249.5㎡
　L1=107.1m　W1=5.65m(3m+8.3m)/2
　L2=10.3m　  W2=4.7m
　L3=183.1m　W3=5.95m(6.2m+5.7m)/2
　L4=119.2m　W4=4.25m(5.7m+2.8m)/2
　※刈りっぱなし（1回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
多角形

cosmia
多角形

cosmia
多角形

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
テキストボックス
　A=277.1㎡
　縁石　L=182.3m　W=0.5m
　緑地　L=54.7m(10.6m+9.4m+34.7m)　W=3.4m
　※処分有り（2回）　

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


L=15m W=1.7m 3
L=86.6m W=0.5m
L=57.0m W=14m
L=50.4m W=1.3m

L=15m W=1.7m 4
L=264.6m W=0.5m
L=24.0m W=1.0m
L=412m W=1.0m

L=1.5m W=1.7m 6
L=24.0m W=1.0m
L=58.0m W=1.0m
L=72.8m W=0.5m



cosmia
折れ線

cosmia
折れ線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
折れ線

cosmia
テキストボックス
　A=133.7㎡
　植樹桝　L=1.5m　W=1.7m　6箇所 
　緑地　L=24.0m　W=1.0m
　緑地　L=58.0m　W=1.0m
　縁石　L=72.8m　W=0.5m
　※処分有り（2回）



cosmia
テキストボックス
　A=207.7㎡
　植樹桝　L=1.5m　W=1.7m　4箇所
　縁石　L=264.6m　W=0.5m　
　緑地　L=24.0m　W=1.0m
　緑地　L=41.2m　W=1.0m
　※処分有り（2回）

cosmia
テキストボックス
　A=196.3㎡
　植樹桝　L=1.5m　W=1.7m　3箇所
　縁石　L=86.6m　W=0.5m
　緑地　L=57.0m　W=1.4m
　緑地　L=50.4m　W=1.3m
　※処分有り（2回）

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線

cosmia
折れ線


